Tuesday
Maths Instructions / model
Watch the loom video to help you follow these slides. 
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Now have a go at the main activity.
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FAnemcay midh = hay 10.

Match the calculation to the correct visual representation.

50+10

70+ 10

40+ 10

60+ 10
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What woudd 40 = 10 = ?
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How conudd we write redated mu/l/t/i/p/{/i/c,a/t/i/om and
dAinvision {a,c/t/s /fom AhAs?
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s0 LO =4=10 and 10x4 =40
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Solve the equation below and write the related facts.

THH T O
L2
— = (X 100)
L 2 0 0
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Use Ahe innverse Ao /h»e/l/p O AoAnve Ahis ome.

Choose the correct number to complete the calculation below.

370 3,700 7,300

5 100 = 37

Annverse wonudld he 37 X 100 =?
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